Floor Boot Rack

34” Wide
48" Wide

760164-xxx Floor | Mobile Top Stretcher 34"
760168-xxx Floor | Mobile Top Stretcher 48" -

760220 Self-Drill Screw #12-14 x 3/4" -

760034-xxx Boot Rack Shelf 34" -
760048-xxx Boot Rack Shelf 48" -

760058-xxx Floor | Mobile Boot Rack Post 58" -

760210 Bolt 3/8"-16 x 3/4" - .
760200 Nut 3/8"-16 x 1 1/32" -

760334-xxx Boot Rack Floor Frame 34" -
760348-xxx Boot Rack Floor Frame 48" -

760240 Hex Bolt 5/16” x 2.00” -
760245 Hex Finishing Nut 5/16” -
760250 Flat Washer 5/16”" -

760235 Adjustable Leg 3/8”" x 1 1/4"

760230 Square End Cap 1.5" x 1.5” -

www.hadrian-inc.com January 18, 2022



